ni= (xtut 1A, =)
invA = {{1, 3, 0}, {0, 1, 1}, {1, -1, 41}
invB={{2, 1, 1}, {0, 0, -2}, {1, 1, -1}};

Print [" (AB)~{-1} = inv[B].inv[Al= ", invB.invA // MatrixForm;
3 6 5

(AB)N(-1} = inv[Bl.inv[A]= |-2 2 -8
0 5 -3

nes=  (xtut 1A, Q%)
A={{-1, -1, -1}, {0, 1, 0}, {O, O, 1}};
Print ["A=", A// MatrixForm];
Print ["A*2=", A. A// MatrixForm];
Print ["A"3=", A. A. A// MatrixFormj;
Print [*A"3=A, hence A has period of 2"J;

B={{0, 1, 0}, {0, O, 1}, (-1, -1, -1}
Print ["B=", B// Matri xFormj;

Print ["B"2=", B.B// Matri xForm];

Print ["B"3=", B.B.B// MatrixFormj;

Print [*"B"4=", B.B.B.B// MatrixFormj;

Print [*"B"5=", B.B.B.B.B// Matri xFormj;
Print ["B"5=B, hence B has period of 4"];

c ={{0, 1, 0}, {-1, -1, -1}, {0, O, 13}
Print ["C=", c // MatrixForm];

Print [*C"2=", c.c // MatrixFormj];

Print [*C"3=", c.c.c // MatrixForm];

Print [*C"4=", c.c.c.c // MatrixForm];

Print ["C"4=C, hence C has period of 3"7;
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A”3=A, hence A has period of 2

AN 3=
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B~A5=B, hence B has period of 4
0 1 0
C=|-1 -1 -1
0O 0 1
-1 -1 -1
cr2=11 0 O
0O 0 1
100
Cr3=10 1 0
001
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0O 0 1

Cnr4=C, hence C has period of 3



